[Business \jathematics]

Time : 3 Hours] [Maximum Marks : 70

Note : This question paper is divided into two sections A &
B. Examinees are required to follow the instructions
given separately in each section.

SECTION-A
(Short Answer Type Questions)

Note : Attempt any five questions from the following eight
questions. Each question carries 5 marks.  (5%5=25)

1. What do you understand by a set and its elements? Discuss

various types of sets.

2. Insert 5 geometric means between 32/9 and 81/2.
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Rs. 327644’- on buymg laptopand ﬂle mmﬂg 3% e
total amount she had as cash with her. What was theﬁ otal

amount?
6. Find the number of permutations of the word 4 B
ACCOUNTANTS. | o f
e 1
7. Sum the following series 3+33+333 ......... up to 8 terms.
8. Integrate the following : \
‘[ l dx.
Vx® +4
= SECTION-B

(Long Answer Type Questions)

Note : Attempt all questions. Each question carries 15 marks.
(3x15=45)

If (2x + 3y): (3x + 5y) = 18: 29, what is the value of

X :y?

9. (a)

(b) A sumat simple interest at 13.5% per annum amounts
to Rs. 2502.50 after 4 years. Find the sum.
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~and 450 cnnsumers Iﬂ:ed product B What 18"
' number that must havehked both products?

C&

(a) It 20% of (P + Q) = 50% of (P — Q), then find P : Q

(b) Find the compound interest on Rs. 10,000 in 2 ym‘ i !-i"

at 4% per annum, the intercst being compounded half-
yearly.

11. Determine the local maximum and local minimum values of
8x + 9x2 - 6x + 10,

OR

Find the inverse of the matrix :

=

1 -2 3
=2 —=—10)
4 =2 5|
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SECTION-A

(Short Answer Type Questions)

Note : Attempt any five questions from this section. Each

question carries 5 marks. (5%5=25)

1. Define Organizational Behaviour (OB) and explain its scope.

2.  What are the challenges and opportunities for OB in modern

organizations”

3. Explain the impact of global and cultural diversity on

Organizational Behaviour.

[P.T.O.
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What are the common reasons for resistance to 0
change?

8. Define Quality of Work Life (QWL) and exp‘lain "'it'!;i_:

importance. X
SECTION-B ﬁ

(Long Answer Type Questions)

Note : Attempt all questions. Each questions carry 15 marks. \
(3x15=45)

9. Discuss different models of Organizational Behaviour and
their relevance in the modern workplace.

OR

Explain different theories of motivation, including Maslow's
hierarchy of needs and Vroom's expectancy theory.

A-863 [2]
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[Production and Operation Manageniénﬁj A

e
Time : 3 Hours] [Maximum Marks : 70 T
Note : The Paper is of seventy (70) marks. This question paper
is divided into two sections, A and B. Section A consists
of short answer type questions, while Section B consists
o:f‘ long answer type question. Attempt both sections as ™

directed,
SECTION-A
(Short Answer Type Questions)

Note : Section ‘A’ contains eight (08) short answer type
questions, Attempt any five (05) questions. Each
question carries 05 marks. (3%5=25)

1. What is production management? Discuss the objectives of
production management,
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6. Discuss the functions of PPC.

-

]

' e
7. Distinguish between preventive and brﬂkﬂ”‘
maintenance,

8.  Briefly explain the transformation model.

SECTION-B
(Long Answer Type Questions)

Note : Attempt all questions. Each question carries 15 marks.

(3x15=45)

9.  What is production system? Explain the different kinds of

Intermittent and Countinyes production system.

OR

Define plant

layout. Also discuss the various Kinds of plant
layout

indicating thej; merits and demerits.

(2]



A-868

T

be the consideration of primary and s
determining site selection”. Elaborate the s

OR

- Write short notes on the following :
(a) Kaizen.
(b) MRP I and MRP II. 0
(¢) Ageregate Planning, fic &
(d) Material Handling.
(e) Six Sigma.
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Note : This question paper is divided into fwe Sections A and
B. Attempt the question from both the sections according

to the instructions given in each section.

SECTION-A
(Short Answer Type Questions)

Note : Attempt any five questions from this section. Each
question carries 5 marks and should be answered n

. S e
about 200 words. (DXD=2))

1. Explain the role of Human Resource Management in

changing environment of modern organization.

A-865 (P.T.0.



and potential evaluation?

8. Explain in brief about various machinery available for
settlement of Industrial disputes in India. 5

SECTION-B
(Long Answer Type Questions)

Note : Attempt all three questions from this section. Each
question carries 15 marks. (3x15=45)

9. What are various human resource functions and their socpe
and significance to achieve corporate objectives? Explain.
15
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11. What are various methods of wage determination and
incentive plans for employees working in any modern
organisation? 15

OR

What are the changing roles of trade unions in the globalized
scenario? Explain. 15

A-865 [3]
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d

SECTION-A
(Short Answer Type Questions)

Note : Attempt any five questions. Each question carries 5
marks. (553=235}

1. What is the role of marketing in business scenario?
2.  Isconsumer sovereignty a fact or fiction? Why so? Discuss.

3. Differentiate between a Retailer and a Wholesaler.

4. Differentiate between Advertising and sales Promotion.

A-866




(a) Salesconcept.
’, (b) Product concept.
(¢) Marketing concept

8. What is marketing research? Discuss its importance.

SECTION-B
(Long Answer Type Questions)

Note : Answer all the questions. Each question carries 15

marks. (3x15=45)

9. Explain the Marketing Environment factors for the Mobile
Phone Industry

OR

Evaluate the role, scope and importance of marketing
information system.

A-866 [2]




11. Classify the various channe] intermediaries andgwe eir

description in detail. Substantiate with examples. .
OR _{.-_
What is the importance of understanding consumer 2
behaviour? Discuss different factors influencing consumer =
behaviour. it

A-866 [3]
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; is divi i ions 1.e.
. Note : This question paper 15 divided into fwo Section

"A" and "B" consists of short answer type questions

while Sectian-B consists of long answer type questions

Follow the instructions given in each section carefully.
| .

SECYTTON-A
(Short Answer Type Questions)

Note : Attempt any five questions from the following eight

questions. Each quesiion carries five (5) marks.
(5%x5=25)

I {. Define business finance.

2.  What are the main functions of Financial Management?

A-864 [P.T.O.




Jay Ltd. pays a divident of T12/- per share initially anq e

3.

growth in dividends is expected to be 5%. Compute the

cost of equity shares if the current market price of an Equity

share is T150/-.
4. What do you mean by Working Capital Analysis? ,,
5. Differentiate between capitalization and capital structure,

6.  Write a short note on Under capitalisation.

7.  State the Walter's formula of Dividend .

8. Firm x and y are indentical in all respected, the Firm vy is
levered. The following dat, related to them :

Firm Firm ~
Pl

X y

7 L4
Assests owened $0/lakhis 50 lakhs |
Debt capital Nil 25 lakh

(9% debentures) .

Equity Capital (X100/- each) 50 lakh 25 lakh
Rate of Return before tax 20% 20%

Comment upon the policy of trading on equity followed by

Firm y.

A-864 [2]
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Yeare _ Project (X) Project )
l 75 lakh 10 lakh
2 | Slakh 12lakh
3 10 lakh 18 lakh
4 Nil 25 lakh
5 12 lakh 08 lakh
6 06 lakh 04 lakh

years.

(a) Payback Period.

OR

[4]
v ®

The cost of capital of the company is 10%, which project
should be chosen under :

(b) NPV Method (Discount factors at 10% are) :
0.909, 0.826, 0.751, 0.683, 0.621, 0.564, for 1 to 6

Define working capital. What are the main components of
working capital?

‘ 11. Find out the cost of capital in the following cases :

(a) A comapny has issued 7% Debentures of ¥10)0/- each
at a premivm of 6% for a period of 12 years,






